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Place Value Grid

Th H T U

1

1 0

1 0 0

1 0 0 0

× 10

× 10

× 10

Key

Th = Thousand H = Hundred T = Ten U = Unit

1. Complete TTh Th H T O

3

(i) 3× 10

(ii) 3× 100

(iii) 3× 1000

(iv) 3× 10 000

× 10

× 10

× 10

× 10

numberX10etc (5) 1. TTh Th H T O
3

(i) 3× 10 3 0
(ii) 3× 100 3 0 0

(iii) 3× 1000 3 0 0 0
(iv) 3× 10 000 3 0 0 0 0

2.

(a) (i) 7× 10 7 0
(ii) 7× 100 7 0 0

(iii) 7× 1000 7 0 0 0

(b) (i) 86× 10 8 6 0
(ii) 86× 100 8 6 0 0

(iii) 86× 1000 8 6 0 0 0

(c) (i) 49× 10 4 9 0
(ii) 49× 100 4 9 0 0

(iii) 49× 1000 4 9 0 0 0
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